























## FSD DEF: *F* first-order stochastically dominates *G* ⇔ for every weakly increasing *u*: ℝ→ℝ, ∫*u*(*x*)d*F*(*x*) ≥ ∫*u*(*x*)d*G*(*x*). THM: *F* first-order stochastically dominates *G* ⇔ *F*(*x*) ≤ *G*(*x*) for all *x*. Proof: "Only if:" for *F*(*x*\*) > *G*(*x*\*), define *u* = I<sub>{x>x\*</sub>}. "If": Assume *F* and *G* are strictly increasing and continuous on [*a*,*b*]. Define *y*(*x*) = *F*<sup>-1</sup>(*G*(*x*)); *y*(*x*) ≥ *x* for all *x*. ∫*u*(*y*)d*F*(*y*) = ∫*u*(*y*(*x*))d*F*(*y*(*x*)) = ∫*u*(*y*(*x*))d*G*(*x*) ≥ ∫*u*(*x*)d*G*(*x*)







14.123 Microeconomic Theory III Spring 2015

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.